f“\

b1

Name

Trigonometry2 Assignment #3

1. Verify the following identities for the given value of the vaniable:

COS X T
a) cotx=——forx==
sinx 3

b) sin®x+cos?x=1forx=

2. Verify the identity 1 + cot® x = csc? xfor the given values:

n 4n
a) = g b) x= T
3. Factor to write each in a stmpler form.
a) sec x sin’ x — sec x b) sin® - cos* @

a

4



4 _Ineach-of the following.:

i) verify the possibility of an identity using a graphing calculator
ii) prove the identity using an algebraic approach

iii)state any restrictions.
tan fcos § _ 2, _sin?y = cos? x + tan’
a) <in 0 =1 b) sec*x-sin“x=cos“x+tan“x

S, Prove the following identities using an algebraic approach;

a) (1 -cos? x){cscx)=sinx b) (sinx+cosx)®=1+2sinxcosx
¥¥
1-cosx .tan;r-sinx 2 2 _
©) simx  tanxsinx ° d) T—sinx T 1+sinx-4s°c2x
—r¥cosx sin x
e) tanx+sinx_°°tx f) secx—cosx=m



C q _COSX
' I-sin?x
A. secx
B. cscx
C. sinx

D. tanx

CSC X

9. —— isequal to

cotx

A. cosx

is equal to

In questions #7 - #11 assume the appropriate restrictions.

2

tanx+l is equal to
sec X

A. secx

B. cscx

C. sinx

D. tanx

cos?A

tan A
10. The expression ———
sec A

in terms of sin A is

, expressed

B. sinx

11. sec x-cosx isequal to 12.

] —cosx
cos x

B. sin’x

1-2cosx
cos x

D. sinxtanx

inA
A. sin s
l1-sin“A
S sin? A
" sinA
C. sin*A
D. sinA-sinA

Which of the following in NOT an

identity?

A. cos’x+sinfx=1
B. sinx+cosx=1
C. sec?x—tan’x=1
D. tanxcotx=1



o

13

15.

if tan x # 0, cos x # 0, cot x # 0 then

1 )
- js equal to
tan x cos x cot x

1
A. S

sin x
B. sinx

i

c. —
cos x
D. cosx

When verifying the identity co’ x+1=csc’x forx= -%[. the value on each side of

identity, to the nearest tenth, is

(Record your answer in the numerical response box from left to right)

14.

1t sinx£0, cos x # Othen

tan x cos x

————— isequalt
3 secxcotx “q 0

L) wl._.

sin“ x

L u{n—-

4 2
D. 3cscx

b,
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§
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TRIGONOMETERY 2 ASSIGNMENT # 4

Prove the following identitjes.

1. cosx =sinxcotx 2. M:l
siné
3. sec@ —coséd =sinftan@ 4. secA—cosA=sinAdtan A
Y
@
5. (sinr+cosr) =1+2sinrcosr 6. Eg—s—ia—:slﬂﬁﬂ—tane
cos



Fairay

7. sec’@-sin’@ =cos’f +tan’ @

I-cosA _ sind

9. =
sin A l1+cos A

11. tanfcos@ =siné

13. cscO(l +sind)=1+cscd

10. (l - cos? aXcsca) =sina

12. sin@cotd =cosé

14. cos@(secd —1)=1-cosé



15. sinftané +secd =
cosd

] sm6+ta.n9=tan9
cos@+1
2
19. sin’@ = tan 8

1+tan’ @

sin? @ +1

1+smn@ _cscfd+1

16. 1Y _
1-sinf cscf -1

18. sin*@cot’@ =1—sin* @



